Parts List

STOCK No

DESCRIPTION

QTY

2F1004

M6 x 25mm Hexagon bolt

2F1204

M8 Lock Nut

2F1211

M6 Nut

2M1069

150ml Cartridge Support

2M1070

300ml Cartridge Support

2M2055

Bulkhead Insert

2P1030

Plunger Ally 29mm

2P1031

Plunger Ally 42mm

251007

Catch Plate Spring

251021

Release Plate spring

251021

251025

Cartridge Locator Spring

2XK002

Zinc Knob

3B5119

Bulkhead

2F1211

3C1017

Mk10 Catch Plate

3P1111

Plunger With Blind Hole

3R1472

Release Plate

3R3048

Drive Rod 327mm

3C1017

3Y1047

Yoke

4AP2010

Frame Assembly (Red)

281007

7R1124

Plunger Rod 327mm

3B5119

7XB315

Mk 10 Butt/Trigger/WCD Sleeves

alnl=aln]=alalalalalaldlalalalmalmv e lwlo]lw

3P1111

2F1004

251025
2M1070

2F1204

S

s“\\\\‘

A
S &

/)

R\~ 2
A\

2M2055

\\\\\\
3o

62
3>
5 >«

LA [}

O\ '
\ V2 251025
’, 2F1204

2P1031 ®

2P1030

2:1 Configuration Plunger/Cartridge Locator

2M1069
4AP2010

2F1204

7R1124

NI\
R W
N

>

3R3048

3R1472

7XB315

2XK002

2F1204
3Y1047

PPM 300X

Quality Sealant Applicators

WWW.pCCOX.Co.uk REV

DATE

sales@pccox.co.uk
TEL:44(0)1635 264500 D

14/08/2003




Parts List

STOCK No

DESCRIPTION QTY

2F1004

M6 x 25mm Hexagon bolt

2F1204

M8 Lock Nut

2F1211

M6 Nut

2M1069

150ml Cartridge Support

2M1070

300ml Cartridge Support

2M2055

Bulkhead Insert

2P1030

Plunger Ally 29mm

2P1031

Plunger Ally 42mm

251007

Catch Plate Spring

251021

Release Plate spring

251025

Cartridge Locator Spring

2XK002

Zinc Knob

3B5119

Bulkhead

3C1017

Mk10 Catch Plate

3P1111

Plunger With Blind Hole

3R1472

Release Plate

3R3048

Drive Rod 327mm

3Y1047

Yoke

4AP2010 |Frame Assembly (Red)

7R1124

Plunger Rod 327mm

7XB315

alnl=aln]=alalalalalaldlalalalmalmv e lwlo]lw

Mk 10 Butt/Trigger/WCD Sleeves

3P1111

2
251025
2M1070

e

=

4AP2010

Z

3B5119

2P1030

281025

2F1211

3C1017

251007

2M1069

2M2055

251021

7R1124

3R1472

7XB315

3R3048

2XK002

2F1204
3Y1047

PPM 300X

CATEN

Quality Sealant Applicators

WWW.PCCOX.CO.uk

REV

DATE

sales@pccox.co.uk

TEL:44(0)1635 264500

14/08/2003




